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1.Choose the correct answer: 

a)6×9=? 

i)45       ii)54       iii)48       iv)50 

b)7×8=? 

i)63       ii)56        iii)42         iv)45 

c) 42÷6=? 

i)7         ii)6           iii) 8        iv)9 

d)63÷9=? 

i)9       ii)8          iii)7          iv)6 

e)5+5+5=15 we write down this. 

i)5×4        ii)5×5       iii)5×3      iv)5×4 



f)7×4=28  we  write down this. 

i)7+7+7     ii)7+7+7+7    iii)7+7   iv)7+7+7+7+7 

g)Which one is the correct answer for 20 in the Roman numeral?  

i)ix          ii)xi            iii)xix           iv)xx  

h)Which one is the correct answer for xv in the Hindu Arabic numeral? 

i) 13          ii)15             iii)17          iv)5 

 

2.Fill in the blank with appropriate words: 

a)56÷7=____ 

b)___÷6=9 

c)81÷___=9  

d)7×5=___ 

e)___×9=63 

f)6×7=____ 

 

3.Write down the following statement which is true or false: 

a)27÷3=8 

b)6×8=42 

c)54÷6=9 

d)8×9=72 



e) In the Roman numeral 13 is written as xii. 

f) In the Roman numeral 17 is written as xvi. 

 

4.Answer to the following questions.                                                               

1.What is multiplication? 

2.What is division? 

3.4×5=20, Here multiplicand is? 

4.25÷5=5,Here divisor is? 

5.54÷6=9,Here dividend is? 

6.9×8=72,Here multiplier is? 

 

5.Match the given problem of column A with the appropriate option 

of column B:        

Column A Column B 

a)42 i)48 

b)36÷4 ii)8 

c)6×8 iii)6×7 

d)45 iv)9 

e)56÷7 v)5×9 

 

N.B. “Do the exercise according to your ability”. 

 



 

 

 

  


